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ADVENCED IATIN~—VERGIL
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The Augustan Agcwas a p%.riod of Reman history characterized by A. great power
and prosperity D. great turbulence C. civil war D. lack of political unity

Which cne of the follcowing did not write during the Golden Age? A. Vergil
D. Ovid C, Horace D. Seneca

Vergil's patron was A Horace DB, Maecenas C. Marcellus D. Octavia
Vergil was born in 7 B.C. in A. Andes D. Naples C. Drundisium D. Rome
Vergil's first major work was A. Georgics D. Aeneid C. Duecolics D. Culex

Vergil's most technically perfect work was A. Georgics D. Acneid
Ca_‘:_}?;clcrgues D. Culex

Vé;ﬁ:;il's work which was supposed to support a "back to the farm” movement was
A.'Ducolics  D. Aeneid  C. Georgics ©D. Copa

¥

Vergil devoted the last years of his life to the writing of the Aeneid.
A. 10 DB. 26 cC.15 D.1Z

Vergil died in 19 B.C. in A. Andes 1. Mantua C. Drundisium D. Naples

Vergil's successor as poet laurcate of Reme was L. Ovid D, Catullus -
C. Horace D. Martial

The Trojan War was caused by an insult to A. Eros D. Eris C. Iris D. Thetis

Which of the followingy was not in Paris’ beauty contest? 2. Diana D. Vemus
C. Juno D. Minerva

Atrides refers to Menelaus and  A. Achilles D. Ajax. C. Nestor D. Agamemnon
The son of Meneas was A. Anchises DB. Achates C. Ascanius D. Evander
Pelides is another name for A. Ajax D. Hector C. Achilles D. Aeneas

Which of the following is not an island? A. Cyprus B. Tenedos C. Libya
D. Samos

Which of the follocwing is not cne of the Parcas? A. Clothe 5. Alecto
C. Lachesis D. Atropos '

The "sack of Troy" is descriked inDock A. I . II C. IV D V
The death of Dido cocours inecck A. I D.ITI C. IV D. V

The second husband of Andrcmache was  A. Hector . Helenus C. Dicmedes
D. Acneas )
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COMPLETE THE FOLLOWING QUOTATIONS:

21. Tantai molis-~ A. erat Romanam condere gentem D. dabit deus his quoque finem
C. ne credite D, timor arguit

22, Una salus A. quis in hoste reguirat B. victis nullam sperare salutem
C. posse videntur D. cede malis

23, Non ignara mali A. mllo discrimine agetur D. quaterque beati
C. miseris succurrere disco D. cano

24. Dolus an virtus . A. quis in hoste requirat DI. possit amantem
C. samper femina D. descensus Averno

25, Semper honos nomenque tuum . A, nullo discrimine agetur
D. dona ferentis C. mentem mortalia tangunt D. laudesque manchunt

CCMPLETE THE FOLLOWING:

26. The mcter of the Aeneid is A. elcgiac couplet D, ismbic pentameter

C. hendecazsyllabic D. dactyllic hexameter

27. To create light, tripping movement in the Aencid, a verse should a majority of
A. spondee DB. dactyls C. strophes D. trochees

28.. The meeting of two vowels without elision is called A. Synapheia D. ictus
C. hiatus D. diastole

25. The phrase "magno misceri murmure pontum” is an example of A. anastrophe
3, chiasmus C. alliteration D. zougma

30. The phrase "implentur veteris Dacchi™ is an example of A, metaphor
B. metonymy C. hendiadys D. ellipsis

31l. The phrase "quae me cumgue vocant terrac" is an cxample of  A. tmesis
D. simile C. litotes D. zouwgma

32. The expression "Aeclus haec éontra: "Tws....." " is an example of
A. zeuygma D, litotes C. ellipsis D. hyperbole

SELECT THE SYNONYM:

33, carpo - A, vello D, rapic C. solvo D, “ caleo
34. spelunca - A. rupes ©D. folium C. antrum D. aequor
35. daps - A. dgcus  DB. ensis  C. gpulae D, fax

36. letum - A, luctus Do levis C. dolor ©D. mors

SELECT THE COREECT MEANING:
37. awris -~ A. car D. gold C. ear D. air
38. lucus - A, Iucid D. lake C. mourning D. grove

39. dolus - A. dollar D. deceit C. grief D. gift

40. genitus A, gem O. twin C. ancestor D. sigh
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Read the following passage carcfully, then answer the guestions based on it.
ook XII, 11928-952.

928
929
930
931
032
933
534
935
8936
937
038
935
840
941
942
G943
944
545
946
947
9418
949
950
951
052

41.

(The combat between Turnus and Aeneas is nearing its end.)

Consurgunt gemitu Rutuli, totusque ramugit

mons circum, ot vocem late nanwra alta remittunt
Ille humilis supplexque oculos, dextramque precantem
protendens, "Equidem merui nec deprecor," inguit:
"utere sorte tua. Miseri te si qua parentis
tangere cura potest., oro (fuit et tibi talis
Anchises genitor), Duani misererce senectae

et me seu corpus spoliatum lumine mavis

redde meis. Vicisti, et victum tendere palmas
Rusonii videre; tua est Lavinia coniunx:
ulterius ne tende odiis." Stetit acer in armis
heneas, volvens cculos, dextramque repressit;

et iam iamgue magis cunctantem flectere sermo
coeperat, infelix umerc cum apparuit alto
balteus et notis fulserunt cingula hullis
Pallantis pueri, victum quem vulnere Turnus
straverat atque umeris inimicum insigne gerechat.
Ille, cculis postquam saevi monumenta doloris
exuviasque hausit, furiis accensus et ira
terribilis, "Tune hinc spoliis indute mecrum
eripiare mihi? Pallas te hoc vulnere, Pallas
immolat et poenam scelerato ex sanguine sumit”
hoc dicens ferrum adverso sub pectore condit -
fervidus. Ast illi solvuntur frigore membra
vitagque cum gemitu fugit indignata sub umbras.

Protendens in 1. 931 is an example of A. geugma 3, hendiadys C. tmesis

- D. hiatus

45,

46.

41.

48.

49.

50.

Daunus is the father of A. Butulus D. Pallas C. Ilavinia D. Turnus

Corpus in 1. 935, is the object of A. tangere D. miserere C. redde
D. mavis

How would ne tende in 1. 938 be expressed in prose? A. non tendere
BD. noli tendere C. noli tendite D. nolite tendere

VWhat do 1L. 9238-940 tell abuut Acneas' state of mind? A. He was very angry
D. He was beginning to waver in his determination C. He was ignoring Turnos
D. None of these

That determined Reneas' final action? A. The belt of Pallas that Turnus was
wearing . Turnus' pleas for mercy C. Anchises' intervention D.None of these

Which of the following adjectives doeg not describe Aeneas? A. acer
B, infelix C. accensus 7. fervidus

What is the case of indute in 1. 9477 A. ablative I. locative C. vocative
D. nominative

The third foot in 1. 949 begins with the syllable. A. poe D. nam C. sce
d. le

The contest ended when A, Turnus was wounded DB. Acneas was killed by Pallag
C. Pallas killed Turnus D. Aencas killed Turnus




